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7 100kN/ Mm% 5 — -~ = —|3mZEBZzB| — ~ - — — | 100kN/mM%#8%.% — - ~ — — |3m%iBZ % — ~ — — —
Thus — -~ = —| #hust -~ = — — Fhest — - ~ — —| #hust — ~ — — —
2 100kN/mM%E{BZ 5 — -~ = —|3mZEBzB| — ~ - — — | 100kN/mM%#8%.% — - ~ — — |3m%iBZ % — ~ — — —
ThList 1.00 | 000 ~ 336 42.63 | FNLSY | 000 ~ 336 | 2.49 13.31 st 1.00 | .00 ~ 7.20 42.63 | TS | 500 ~ 7.20| 2.49 13.31
3 100kN/mM%E{BZ 5 — -~ = —|3mZBzB| — ~ — — — | 100kN/mM%#8%.% — - ~ — — |3m%i#BZ % — ~ — — —
ThList 1.00 | 000 ~ 336 42.63 | FNLSY | 000 ~ 336 | 2.49 13.31 st 1.00 | .00 ~ 7.20 42.63 | TS | 500 ~ 7.20| 2.49 13.31
4 100kN/mM%{BZ 5 — -~ = —|3m%EBZzB| — ~ — — — | 100kN/mM%#8%.% — - ~ — — |3m%i#BZ % — ~ — — —
Zhust 1.00 | 000 ~ 454 56.65 | #hes | 000 ~ 454 1.90 10.18 Zh LS 1.00 | 5.00 ~ 5.00 56,65 | Tnust | 5.00 ~ 500 1.90 10.18
5 100kN/ ME#EZ % - -~ - —|3mEBZE| — ~ — - — | 100kN/MZEEZ S - -~ = —[3mEBZEH[ — ~ @ — — —
Thust — -~ = —| #hust -~ = — — Fhst — - ~ — —| #hust — ~ — — —
P 100kN/M&#EZ % - -~ - —|3mEBZE| — ~ — - — | 100kN/MZEEZ S - -~ = —[3mEBZE[ — ~ @ — — —
zhus — -~ = —| #hust -~ = — — Fhst — - ~ — —| #hust — ~ — — —
- 100kN/ ME#EZ % - -~ - —|3mEBZE| — ~ — - — | 100kN/MZEEZ S - -~ = —[3mEBZEH[ — ~ @ — — —
Thust — -~ = —| #hpst -~ = — — Fhst — - ~ — —| #hust — ~ — — —
P 100kN/M&#EZ % - -~ - —|3mEBZE| — ~ — - — | 100kN/MZEEZ S - -~ = —[3mEBZE[ — ~ @ — — —
Thus — -~ = —| #hust -~ = — — Fhst — - ~ — —| #hust — ~ — — —
9 100kN/M&#EZ % - -~ - —[3mEBZE| — ~ — - — | 100kN/MZEEZ S - -~ = —[3mEBZE[ — ~ @ — — —
Thust — -~ = —| #hust -~ = — — Fhst — - ~ — —| #hust — ~ — — —
10 100kN/M&#EZ % - -~ - —|3mEBZE| — ~ — - — | 100kN/MZEEZ S - -~ = —[3mEBZE[ — ~ @ — — —
Thus — -~ = —| #hust -~ = — — Fhst — - ~ — —| #hust — ~ — — —
11 100kN/ M&#EZ % - -~ - —[3mEBZE| — ~ — - — | 100kN/MZEEZ S - -~ = —[3mEBZEH[ — ~ @ — — —
zhus — -~ = —| #hust -~ = — — Fhst — - ~ — —| #hust — ~ — — —
12 100kN/ M&#EZ % - -~ - —|3mEBZE| — ~ — - — | 100kN/MZEEZ S - -~ = —[3mEBZEH[ — ~ @ — — —
Thus — -~ = —| #hust -~ = — — Fhst — - ~ — —| #hust — ~ — — —
13 100kN/ M&#EZ % - -~ - —[3mEBZE| — ~ — - — | 100kN/MZEEZ S - -~ = —[3mEBZEH[ — ~ @ — — —
Thus — -~ = —| #hust -~ = — — Fhst — - ~ — —| #hust — ~ — — —
100kN/mM%E{BZ 5 ~ IMEBZD ~ 100kN/ m%#B% % ~ 3ImEHBR S ~
Thust ~ ZFhst ~ Fhst ~ s ~
100kN/mM%E{BZ 5 ~ IMEBZD ~ 100kN/m%#B% % ~ 3ImEHBR D ~
ThLst ~ FhLst ~ FhLst ~ st ~




